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What is the solution set of the equation [image: image1.png]


?

	1)
	[image: image2.png]
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	3)
	[image: image4.png]




	4)
	[image: image5.png]
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The solution to the equation [image: image6.png]


 is

	1)
	0, only

	2)
	6, only

	3)
	0 and 6

	4)
	[image: image7.png]
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What is the solution set of the equation [image: image8.png]


?

	1)
	[image: image9.png]


 and a

	2)
	[image: image10.png]


 and [image: image11.png]




	3)
	2 and a

	4)
	2 and [image: image12.png]
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The solution set for the equation [image: image13.png]


 is

	1)
	[image: image14.png]




	2)
	[image: image15.png]
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What is the solution set of  [image: image18.png]Im-10=0



?
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What is the solution set of the equation [image: image23.png]


?

	1)
	[image: image24.png]
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What is the solution set for the equation [image: image28.png]—5x46

0



?

	1)
	[image: image29.png]




	2)
	[image: image30.png]
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What is the solution set of the equation [image: image33.png]x4+ 11x+28=0



?

	1)
	[image: image34.png]
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The solution set of the equation [image: image38.png]


 is 

	1)
	[image: image39.png]
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	[image: image40.png]
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The solution set for the equation [image: image43.png]


 is

	1)
	[image: image44.png]




	2)
	[image: image45.png]




	3)
	[image: image46.png]




	4)
	[image: image47.png]






11
The solutions of [image: image48.png]16x-28



 are

	1)
	[image: image49.png]


 and [image: image50.png]-14





	2)
	2 and 14

	3)
	[image: image51.png]


 and [image: image52.png]




	4)
	4 and 7
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If [image: image53.png]


 is a factor of  [image: image54.png]X —x—w

0



, then the value of w is

	1)
	12

	2)
	[image: image55.png]-12





	3)
	3

	4)
	[image: image56.png]
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Which equation has the solution set [image: image57.png]


?

	1)
	[image: image58.png]_4x+3

0





	2)
	[image: image59.png]0





	3)
	[image: image60.png]x4+ 4x4+3





	4)
	[image: image61.png]x4+ 4x-13

0
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For which equation is the solution set [image: image62.png]


?

	1)
	[image: image63.png]x4+ 3x— 1
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Which equation has the same solutions as [image: image67.png]x4 x-3

0




	1)
	[image: image68.png](2x-1x+3)=0





	2)
	[image: image69.png](Zx+ 1)(x=3)=10
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	[image: image70.png](2x=3)x+1)=0





	4)
	[image: image71.png](2x+3)(x-1)=0
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What is the solution set of the equation [image: image72.png]


?

	1)
	[image: image73.png]




	2)
	[image: image74.png]2
12
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What are the solutions to the equation [image: image77.png]


?

	1)
	[image: image78.png]


 and [image: image79.png]




	2)
	[image: image80.png]


 and 4

	3)
	[image: image81.png]


 and [image: image82.png]




	4)
	[image: image83.png]


 and 2



1
ANS:
2

[image: image84.png]



REF:
010727a

2
ANS:
3

[image: image85.png]6x=10
x(x-6) =0





REF:
080921ia

3
ANS:
3
REF:
011702ai

4
ANS:
2

[image: image86.png]x-2x-15=0
(x-5(x+H=0
x=5





REF:
080012a

5
ANS:
1

[image: image87.png]m=Fm=10=0
(m-5)m+2)=0
m=5m





REF:
080118a

6
ANS:
1

[image: image88.png]©-5x-24=0
(x-8)x+3H=0
x=8





REF:
060313a

7
ANS:
4

[image: image89.png]2 -5x+6=0
(x-3(x-2)=0
3x=2

x




REF:
010520a

8
ANS:
2

[image: image90.png]2 +11x+28=0
(x+Dx+4)=0
7 x=-4





REF:
060514a

9
ANS:
3

[image: image91.png]x-4x-12=0
(x-6)(x+2)=0
6





REF:
060725a

10
ANS:
3

[image: image92.png]xt-5x=6
2 =55-6=0
(x-6)(x+D =0
x=6x





REF:
080525a

11
ANS:
2

[image: image93.png]- 16x+28=0
(k- 14)x-2)= 1
4,2





REF:
061311ia

12
ANS:
1

[image: image94.png](x-4)(x+3)=0
F-x-12=0





REF:
060430a

13
ANS:
1

[image: image95.png]X -d4x43
(k- B-1) =1

x=3





REF:
010913a

14
ANS:
1

[image: image96.png]2 +3x-10=0
(x+5)(x-2) =0
-5 x





REF:
080825a

15
ANS:
4
REF:
011503ai

16
ANS:
3

[image: image97.png]35t -34x-24=0
(Gx+2)(x-12)=0

r=-Zx=12




REF:
010419a

17
ANS:
1

[image: image98.png]3+ 10x-8=10
(- D+ 4)= 0
2





REF:
081619ai

